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] 213 4 516 7 8 gt 1011 12 13 14 15] 16 17 18 19
BinoGepezbke | 2 | 18] 14 | - | - - 6C3(86)4C3(65) 86| 06| 1] 25 36 300 3e|BCP| £ _ 35
BinoGepesnke | 3 | 6 (L8 | - - - 10C3 76 0821 22 26 370 3e|BCP ;: § 35
binoGepeseke | 3 [ 7| £3 { ()} 1,0 1,0 10C3 L0711} 22 26 320 3e|BCP % § = 35
BinoGepesbke | 13122 12 | - | - - 10Cs 86| 0711 26 30 400 3e|BCP| = %’ E 30 %
BinoGepesbke | 17| 1] 3,7 [(2)13.0] 3.0 10Cs 761 0712 21 26 300 3¢|BCP §_ § 51 30 E
binobepesbke | 17| 2| 18 | - | - - 10C3+bn 708 )1 ] 22 28 370 3e|BCP l§ = = 40 =
BinoGepesbke | 25| 5 25 [ - | - - 10C3+Bn+Oc+Bau [105] 0,7 1| 29 [ 36 470 |3e|BCP| £ §~§ 35 2
Binobepesbke |25 8 | 125 | - - - 6C2(862bn2C3(60) {86 | 0.7t 11 25 36 320 3e|BCP E f,—'; 40
Binobepesbke |25 [ 15) 1,6 | - | - - 10C3+bn 9| 0,7 [ 1] 27 32 400 3e{BCP E § 35
Binobepesbke | 26| 3| 08 | - | - - 8C32bn+Bay 46| 0,8 [tal 20 18 290 4e|BCP| & 35




KOMMNeKe CTOBOYPOBHX LIKiAHMKIB (BepXiBKOBHUit Kopoin, cocHOBI nyfoiau, 3naTku)

Binotepesske | 301 10| 85 |(3){ 8,0 8,0 8C3(56)1C3(75)1bn | 56| 08 | 2| 17 20 250 4¢|BCP
BinoGepesbke | 33 [ 10| 5,0 | (2)| 4,5 4,5 16Ca 8110651 1] 26 26 382 4 ¢ BCP
binoGepespke | 39| 1 1,1 - - - 10C3 56109712 17 14 290 4e|BCP
BisoGepesske | 39 | 10| 12 | - - - 10C3 63107 (2] 19 22 260 4 e | BCP|
BinoGepesske | 39| 18| 7,1 (4] 5,3 5.3 9C31bnt]i3 630811 21 26 340 4¢|BCP
BinoGepesbke | 42 { 12| 2,7 - - - ] SCHTINCHIID+Br | 71| 0,7 2| 20 24 300 4¢|BCP
BinoGepeseke | 44| 9| 90 | - | - - 10C3+bn+ 3 66| 08 | 1] 23 24 390 3 ¢ | BCP
BinoGepesbke | 53 [ 3 2,2 - - - 10Ca+Bn 61| 0,81 1] 20 24 320 4e|BCP
BinoGepesvke | 54 (20 4.3 - - - 9C316n 611 08711 22 24 350 4 e BCP
Binobepesske | 54 | 21| 1,1 - - - 10C3 34107(13] 10 12 100 4e|BCP
binobepeseke | 55{ 10| 1,3 - - - 8C3(912C(70)+bn 9L 07| 1] 26 36 370 3e|BCP
binoGepeabke | 55 14] 4,3 - - - 10C3+/]3+bn+Bnu | 61| 0,8 | 1a| 26 30 470 3 |BCP
BinoGepeaske | 56 (23] L5 - - - 10Cs g6 0,71 1| 27 32 420 3¢|BCP
Binobepesbke | 56 [ 241 0,2 - - - 10Cs3 761 0,711 24 26 360 3e[BCP
Binobepesske | 56 [ 26| 1,6 | (2)| 1,3 1,3 10C3 9| 07 [ V| 27 32 420 3e|BCP
Binobepesbxe [ 59 [ 13| 2,7 | - - - 9C31bn 76| 0,7 2] 22 26 300 4¢|BCP
Binobepeseke | 59 |1 23| 1.9 | - - - 9C31bn 71 0,8 |16] 29 30 500 4 ¢|BCP
BinoGepesnke | 64 [ 197 03 - - - 10C3+13 90| 071 1] 27 36 430 4¢{BCP
BinoGepesske |65 [21] 61 | - | - | - 803(8’)2C£§”O)+5"+ g1lo7|1] 25 32 400 |4e¢|BCP
BinoGepesbe | 67 | | 15,5 [ (3| 13,7 13,7~ 9C316nt+dz 661 08 |11 21 24 330 3e|BCP
Binobepesbke | 70| 4 | 24 [(2)] 1.8 1.8 10C3 911 07| 1] 26 30 400 4e|BCP
binoGepesbie | 70 | 21| 24 | - - - 3py6 - - |1 - - - 4¢|BCP
Binodepesbke | 70 (22| 23 | - | - - 6C3(31)25():j(l;:0)2(:3(6 g1]o7 2] 23| 30 340 |4e|BCP
BinoGepesbke | 711 15| 1,6 [(3)] 1,0 1,0 10C3 9110711 | 27 28 420 4e|BCP
BinoGepesvke | 71| 16| 0.6 - - - oonoeTto - - -1 - - - - IBCP
BinoGepeabke | 7122 2,6 |(2)} 1.6 1,6 10C3(70}+C3(90) 701 071 1] 24 26 360 4e|BCP
BinoGepesbke | 73 { 18| 0.4 - - - 10C3+Bn 66107 (11{ 21 | 24 300 4 e | BCP
binoGepesske { 73 | 22] 04 - - - 7C33bn 55107 (1] 20 24 220 4e|BCP
binoGepesbke | 74 | 4 0,7 - - - 5C35bn 251 06 |1 10 12 70 4e|BCP
BinoGepesbke | 74 [ 17] 1,7 (] 05] 05 9C31bn+Bnu 76| 0,7 ) 1] 24 30 350 4e{BCP
binoGepesbke | 80 [ 1 5.4 - - - [OC3 g6l 0712 22 28 320 4e|BCP
binoGepesbke | 80| 2 | 05 - - - 5C3(BNEC(SICE |81 0613 17 30 140 4e|BCP
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BinoGepesske | 811 5| 2,6 - - - 10C3+Bn 100 06 12| 26 32 340 4e¢|BCP i 40
bitobepesske |81 7] 02 | - | - - 10C3 86| 053] 21 | 30 190 |4e|{BCP| 23 35
Binobepesbxe 182 11 05 | - | - - 10Cs3 91 0,6 | 3| 20 30 210 4 e |BCP E% 30
BinoGepesske | 82 2 { 3,0 [(2){ 2,1 2,1 8C3(91)2C3(70) 911 0,7 | 2] 24 32 360 |4e{BCP E B 40
binobepeapke | 82112) 0,5 |} - | - - 8CzibnlMa 561 08 ]1] 20 24 290 4e|BCP|] & § 45 %
Binobepesbke | 917125] 2,9 ([ 22] 22 5C3(61)16n4C3(80) {61 08 1 1] 21 24 365 2¢|BCP % ;« g 40 =
Binobepesbke | 91126] 2,3 - - - 8Cz1121bn 56| 0,8 |la] 22 22 320 2 ¢ BCP ‘:?; 'g. g 40 E
BinoGepesbre | 93| 3 [ 24 [(2)]12,0] 2,0 8C3(81)2C3(70)+bn |81 0,7 | 1| 26 30 360 4 ¢|BCP E E 45 £
BinoGepesvke | 93 | 4 | 49 [(3)134] 34 10C3 83108 (2] 24 28 400 4e|BCP % E 40
Binobepespke | 93 | 5 7.5 - - - 8Cz11s1bn 761 08 ] 1| 23 28 360 4¢|BCP EE 40
Binobepeabke | 931 7| 04 | - | - - 10C3 91 06 12| 25 30 300 4¢|BCP| 2 § 50
BinoGepesbke 1001 3 | 0.8 j(2){ 05 05 10C3 86| 08| 1] 27 30 460 4 ¢ | BCP ot 40

Pazom: =1 - 1142,1} - - - - - - - - - - - - - - -
Kepepcrre 6 |15] 0.8 - - - 10C3+E5n+0c S1107(11] 26 32 450 4e|BCP 40
JKepepcbke 7131 456 - - - 9Cz1 I3+bn 711081 25 28 440 4¢|BCP E 35
JKepepcbke 715) 54| -] - - 5C35bn+3+0c 7110711 25 28 270 4¢|BCP 3 45
Kepescvke 211 9] 41 ()35 3.5 10C3+513+Knr 841 0611 28 32 410 4 e |BCP :{ 40
Kepepcbke 22115 09 | - - - 10C3 86061 1) 25 28 350 4e|BCP g 45
HKepercrke 22124 1,5 ] - - - 10C3 86| 006 (]| 26 28 360 3 |BCP 2 40
Kepeschre 26 6] 05 ] -1 - - 9C31bn 836) 06 1] 26 32 360 4 ¢|BCP )E 30
Kepepcbre 2715 48 | - | - - 10C3 86107 [ 1] 28 32 495 4¢|BCP % 3
Hepescoke |30 13] 1,9 | -] - - 10C3+/13+bn 91107 [ 1| 27 [ 32 430 |4e[BCP| E% 40 o
Wepescoke | 30|21 39 | - | - . 10C3+13+bn 25107 |1] 26 | 28 430 l4efBCP| £ 8 45 @
Kepepcoie 37 10y - - - 10C3+[3+13 86({ 0,6 [la|] 29 36 430 4¢e|BCP 'g :- 40 E
Yepeschxe 41171 06 | - - - 10C3+s 8610711 28 36 450 4e|BCP E =§ 40 "
Kepercbke 46116 28 ()] 1.8 1,8 10C3 8110812 23 28 430 3¢ {BCP 5 % 45 =
Kepescoke |47 18] 1,1 [ - | - - 10C3 861 07 | 1] 27 | 32 470 {3e[BCP| & 45
JKepepcbke 815 1,3 ] -1 - - 10C3 100 0.7 [ 2] 26 32 440 3e|BCP § 35
Jepepcbke 511 3 i,5 - - - 10Cs Rga{ 0,7 12| 24 32 380 Je|BCP ‘ao"?: 35
Kepepcbke S1{41b 37 (1331 33 10C3+bn 65107 )1 ] 22 24 310 3e|BCP 5 30
Kepencbke 571 1] 320 - - - 10C3+5ne 111 0.6 [ 11 29 36 445 4 e|BCP 2 40
Kepercbke 591111 03 | - | - - 10C3 1101 0,7 [ 2] 28 1 32 440 4e|BCP E 40
Hepercbke 60 | 10] 284 | (5)]254] 254 10C3 11 05 {21 28 36 350 4 ¢e{BCP g 45
Jepescbke 64| 2] 40 | - | - - 16C3+bn 864 06| 1§ 28 32 400 4¢|BCP 55




JKeperchke 661121 1,9 | - - 10Cs 111 0,6 | 2| 28 36 370 2e | BCP
Kepepcbke 72130 1,2 - - [0C3+Bn 8i| 08 (1| 24 28 400 4¢|BCP
Hepeschbke 821211 0,7 - - 10C3 611 0,7 1] 21 22 330 4 e BCP
Jepencrke 83118] 6,5 - - 10C3+ 3 +bn+0O¢ 66 0,711 24 28 350 |4¢[BCP
Kepencbke 891101 04 | - | - 10C3+/3+bn 86| 06 [ 1] 27 32 360 4 ¢} BCP
Aepercbke 8911 01 | - § - 10C3 8610611 28 36 400 4¢|BCP
JXKeperchke 90| 10] 6,9 - - SCalbnt/[3 661 08| 1] 24 26 390 4e|BCP
Keperchke 90| 11| 24 - - 9C31 d3+bn 66| 0,8 {1a| 26 32 470 4¢|BCP
HKepescoke 97| 3 1,6 - - 10C3+bn 66 0,8' 1] 22 28 410 4e}BCP
Kepercbke 971 6] 03 - - 10C3 66| 08 | 1] 23 26 420 4e|BCP
Kepencoke 98121 09 - - 10C3+Bn+Oc¢ 661 0,811 23 26 420 4e|BCP
JKepencbre 99 13] 24 - - 9C31 Na+bn+0c¢ 66| 0.8 [la] 25 32 480 4¢ 1 BCP
HKepencbke 99| 14| 90,5 - - HCa+Bn+Oc 851061{2| 24 36 310 4¢|BCP
Kepencbre 99 [ 251 2.8 - - 7C32bn10ct3+tBau | 711 08 [ 1] 24 28 360 4¢}BCP
HKepesebke 104 15] 0,3 - - 10C3 66| 0,8 {la] 25 28 440 4¢|BCP
Kepeecbxe 105116 0,9 | - - 10C3+]/13+bn 861 0,7 |11 27 36 430 4e|BCP
Hepeecbke |107[12] 1.6 | - | - 8C32bn 661 09 | 1| 23 24 400 4 e | BCP
JKepeecbke 107)29| 0.6 - - 10C3 59108111 21 22 350 de|BCP
HKepescbke 107 30{ 1,0 - - 10C3 8110712 22 26 330 4¢|BCP
Kepepcbke 1081 12} 0,8 - - 10C3+[a+bn 581 081 1] 22 24 370 4 ¢ |BCP
Hepepcbke 111123 06 [ - | - 10C3+bn 66| 08 | 1] 23 26 4035 4¢|BCP
Jepescbke 1141 281 0,9 - - 10C3+0¢c+bn 86105111 26 32 310 4 ¢ | BCP
HKepercoke 17126 18 | -1 - 10C3+bn 56| 0.8 jla] 22 26 385 3e|jBCP
JKepepcoke 1181 9| 39 [(3)] 1.9 9C3ibn 86108 |1 26 32 420 Je|BCP
Kepescoke | 121{28] 15 | - | - 10C3+bn g1 o8 |1] 26| 32 500 |[3e|BCP
XKepercbke 1221 3 1.5 - - 9C31bn+0Oc 96 08 |21 25 32 410 3etBCP
Kepescbke 122 5| 69 | - - 3C32Bn+Qc¢ 1{ 08|11} 26 32 370 3e]|BCP
Kepescbre 122115 0,7 - - 10C3 60 08 1| 22 24 390 3e|BCP
Kepepcbke 122(17] 09 | - - 10C3 100) 06 1| 27 36 370 Je|BCP
Kepepcbke 123] 2 1,0 - - 10C3 62108111 21 24 355 le|BCP
Hepepcoke 1129[20] 02 | - | - 10C3 761 0721 22} 26 330 | 3e|BCP
HKepepcoke 131 14| 05 - - 10Ca 66| 0.8 | 1} 24 28 440 3Je|BCP
Kepescbke 133 7| 05 - - 10C3 |07 1}| 25 36 390 4¢|BCP

KOMIJIEKS cTOBOYPOBUX IHKIAHHKIE (BepXiBKOBHE KOpOid, COCHOBI JTyGOiIH, 31aTKH)
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HKepepcoke 134] 18| 0,5 10C3+bn 36| 0,6 4 1BCP 7
Kepenchre 13419 1.5 10C3 86| 0,6 4 |BCP % ;;‘E
Kepercoke 1341 34| 6,8 10C3 86| 0.6 4¢|BCP E'«%%
Hepescbke 134) 44 3,5 10C3 76| 0,7 4e|BCP| ¢ § E
Hepeschke 1341 451 3,5 10Cs 661 0,7 4¢e{BCP ©
Pazom: - - | 162,6 - - - - -
JecHiBCbKe 1| 4] 3, 7C33bn+3+0c¢ 81 0,7 3elBCP
JleouiBcere 2 [24] 53 10Cs+3+bn 81107 Je|BCP
Jleouiscnie 5171 69 10C3+ 13 761 0,8 3e|BCP =
Jleonieceke | 5 [14] 1,9 7C3(70)3C3(58) | 70| 0,8 3e|BCP £
JleoHiBCbKe 5118 2,1 6Ca(116)4C3(75) 116] 0,6 3e|BCP 5,\
JleoHiBCbKe 6 151 23 10C3+AKD 76 0,7 3e¢|BCP %
JleoHiBchke 7{18% 0.5 10C3 761 0.8 3e|BCP "%
JleoHiBchie 8 116 14,2 10Cs 761 0.8 3e|BCP E
JleoHiBcbie 9121 34 10Cs 100] 0.6 3e|BCP §
JleoniBcoie ¢ i3 1,5 10Cs+/3+bn 761 0,7 Je|BCP =
JleoHiBcbEe G 127 02 10Ca 06| 0.8 3e|BCP ’ng
HNeoniechke 101061 1,3 SC3)1Bn+ /13 86| 0,7 Je|BCP 2
JleoHiecuke 10 10| 086 8C3(1102Cs(90+bn [ 110} ©,6 Je|BCP E
JleoHiBCbKE 10 t4| 83 10C3+]13 76| 07 3e¢|BCP %
Jeonisceke | 10[ 21| 04 10Ca+d3+Bn 66| 0,7 3e{BCP ®
Teoniseeke | 12| | | 2,0 10C3 85] 0.7 3e|BCP g
Jeoniecbke | 12[23] 2,6 10C3 76] 0,7 3e|BCP =
JleoHipchie 151 4] 20 10C3 66| 0,8 4¢ |BCP "
Jleonincbxe 15 7 1,6 10Cs 86| 0,7 4e|BCP =
JleoHiBcLKe 15| 8 5.5 10Cs3 86| 0.7 l4e|BCP :.xf
JleoHiBcbke 16|20 0,7 10C3 86| 0.6 4¢|BCP ';Or_;.;
Jleonischke 321 9] 1,6 10C3+]I3 86| 0,6 4¢|BCP ‘%
JleoHiscbke 43| 2 0,7 [0Ca+H3+bn+3+Ane | 60| 0,8 4 ¢|BCP 5
Tleowischke | 43 | 3 | 1.1 9C31Bn+AnetOc | 71| 0.8 4e|BCP <
Meoninobke | 43 | 9 | 1.7 9Cs 1 ds+Sinethn | 71| 0,7 4¢|BCP =
Heoniscobye 43118t 07 2] AnelCas316n | 66 0,8 20 4 e | BCP g
Neonincoye 431191 25 10Ca+Ane+bn+s+031 71 | 0,8 30 4¢|BCP
Neonipctre 431207 08 10C3+bnt+ia+Snet d3 | 63 ] 0.8 28 4¢|BCP
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JleoHiBchke 431281 1.4 - - - 10C» 581 0,8 116] 27 26 480 4ejBCP| -8 _ 40
JleoHiBCBbKE 441 5 2.8 - - - 10Cs+bn+I3+fne | 73] 0,7 |16) 30 30 480 4 ¢ | BCP E § 40
JICOHIBCBKE 5212191 21 | - - - 9C21bn 66| 0,7 | la| 25 26 360 4 e | BCP % § = 40
Jeowniscbke 521 3| 2,1 - - - 9C31bn+4ne+Ia 8600711} 28 36 420 4e|BCP] & ‘§ E 35 %
JleoniBchke 6512171 46 | - - - 9C31bn+/13 76| 08|11 20 30 450 4 ¢ |BCP §_ 25 35 =
Jeonischke 65126 1.8 | - - - 10C3+Ebn+13 761 07111 26 30 390 4 ¢ |BCP '~§‘ :g § 30 E
& =D o
JlcoHiBCEKE 6914 52 |4 3,7 3.7 10C3+bn+O3+0c¢ 7610711 24 30 370 4 ¢ |BCP g % % 35 =
| ; o
HNeoHiscbke 76 | 231 4.6 - - - 9Cs1bn+/13 661 08111 21 26 330 4¢e|BCP % § 35
JleoHigceke 76 | 26| 09 - - - 6C3(86)4Ca3(61)+bn {86 06 | 1| 26 36 300 4e[BCP g = 35
Pazom: -l -11002] - | - - - - - §- - - - - - - - -
Makapiecoke | 18| 3 | 06 | - | - - 10C3 511 0.8 [la] 21 20 340 4 ¢ |BCP 30
Makapieceke | 18 41 14 | - | - - 10C3 66 08111 24 26 415 4¢|BCP . 30
Makapichke | 18 [ 12| 4,1 - - - 8C31bnl1/lz 76108 1] 25 | 28 400 4 ¢|{BCP § 40
Makapiechke | 18| 14) 0,8 | - - - 5C33bn1Ccl 3 621 07 1] 22 24 240 4 e |BCP § 30
Makapincske | 18 { 15| 7.6 1 (2}| 7.2 7,2 10C3 761 08| 1] 24 26 420 4¢|BCP %f 3
Makapiscexe | 18 [ 171 1,6 | - - - 8C3(66)2bn+C3(100) 166 | 0.8 | 1| 22 28 340 4¢|BCP § 40
Makapisceke | 18 [ 28| 1.8 1(2)] 1.2 1,2 10C3 76108 | 1] 25 | 26 430 4e|BCP = 40
Makapiscexe | 18 [ 29| 3.8 | - - - 10C3+bn+/13 66 081 1] 24 28 400 4¢|BCP g 20
Makapiscoke 22| 5] 10 ) - | - - 10C3 761 0,7 | 1] 26 28 400 4e|BCP £ e 40
Makapiscoke |22 7| 49 [@119] 19 9C21 113 71| 08 [1a] 26 | 26 430 |4e|BCP g 40 fz,
Makapiscoke |23 [ 6 | 48 | - | - [ - 10C3 76] 08 1] 26 | 28 450 l4elBCP| &S 50 2
Makapiscoke |23 {10] 3.3 | - | - - 10C3+bn+/13 76| 0,8 | ta] 27 28 480 4e|BCP : 5 60 =
Makapiseoxe |24 | 2 | 54 [ (7] 03 0,3 10C3 L0071 23 26 340 4¢{BCP 'g l§ 50 2
Makapiseske | 24 | 3 19 | - | - - 10C3 7t 06| 1] 24 26 310 4¢|BCP x = 40
Makapicexe | 24 [ 9| 5,3 - - - 10C3+bn+/13 76| 08 1] 25 26 430 4¢{BCP g 60
Makapiscoke | 24 {22 3.2 | (3)} 1,2 1,2 | 10Ca 7610711 26 28 410 4¢|BCP & 30
Makapiscexe [ 25| 1| 10,5 | - - - 10C3+bn+/Ia 76| 0.7 1 1| 25 26 390 4¢|BCP E 30
Makapisceke | 25{ 5| 2,0 | - - - 7C3(61)2C390) (O3 | 61| 0,7 [ 1] 21 24 280 4e|BCP § 3
Makapisceke | 25| 9| 46 |(2)] 39| 3.9 10C3 66| 07 1] 22 22 330 4e|BCP E 30
Makapisceke | 2516 1.5 | - - - 10C3 711081} 24 26 400 4e|BCP § 30
Makapiscbre | 25 [ 21 1,3 | (2)] 0.5 0,5 10C3 76| 08 1] 26 26 450 4e|BCP 3
Makapiscexe | 25[22] 1,0 - - - 10C3 761 07 1] 25 28 380 4e|BCP 30




KOPEHERA

Makapieebke | 26 | 10} 7,0 [ (3)| 5.4 5.4 10Czk 76108 (1] 23 26 380 4 ¢ | BCP] ry6Ka 30
Makapisceke | 32| 4 | 43 [ (D] 3,6 3,6 8C3213 761 0,7 | 1lal 27 32 410 4e|BCP = 40
Makapirceke | 32| 11] 2,2 - - - 1613tbn+Ca+l3 5607 (2] 16 16 160 |4e|BCP E 20
Maxkapiceke |32 (121 1,3 - - - 10C3+/13 710711 26 32 400 4 ¢ | BCP E 60
Makapiecoke | 32 | 13| 2,0 - - - 10/ +SIne+Ca+Br+Oc| 66| 0,7 [ 2] 19 20 220 4 e jBCP = 20
Makapiscbke |33 [ 9] 2,6 - - - 8C31121bn 761 0,7 | la| 27 32 390 4 e |BCP ;5:: 40
Makapieske | 34 (23} 0,2 | - | - - 10C3 811 0,7 |la] 28 32 440 4 ¢|BCP E? 40
Makapiceke {39 4] 08 - - - 9C31 s 8110711 26 32 390 4e|BCP § 40
Makapirceke | 39| 13} 2,5 - - - 10/13 7610721 20 20 230 4e|BCP § 20
Makapiecbke |39 [32] 4,3 - - - 8C32bn 701 0,7 |1a] 27 32 400 4e|[BCP %‘f 40
Makapiscske | 40 | 10| 0,2 - - - 10Ca 661 0,7 | laf 27 32 420 4¢|BCP §- 30 =
Maxapiscbke |42 [ 7] 3,7 - - - 10Cs 6610711 24 28 370 4e|BCP 5= 40 %
Makapiscbke |43 [ 6 | 2,0 - - - 86n20c+Hne 55107131 18 18 160 4e|BCP § 50 E
Makapiecoke | 46 | 261 1.0 - - - 10C3+][3 66| 0,7 |la} 25 | 26 380 de|BCP -E 40 @
Makapipcske | 47| 4 | 438 - - - 10C3+ )13 60| 0,7 | 1a) 24 32 360 4e|BCP §' 40
Makapiscbre 471 6 0,4 - - - 10Ca 66| 0,7 | ta} 26 30 400 4e|BCP E 3¢
Makapircbke | 48 | 27| 04 - - - 10C3+bn 61107117 21 26 300 4¢|BCP E 30
Makapiecbke | 56§ 6 | 33,0 (D)} 7.5 7,5 10C3+En 5810712 19 24 275 de|BCP 5 40
Makapiscbke | 65 [ 21| 6,7 - - - 10C3 55107111 20 22 310 4¢|BCP % 30
Makapiscbke | 66 | |1 _ 4,6 - - - 10C3 61| 0,7 |1a] 23 26 360 4¢|BCP §_ 40
Makapisceke | 66 3 | 1,1 [ - | - - 10C3 611038 |lal 23 26 405 4 ¢|BCP J:%‘ 40
Maxkapieceke | 71 ] 20] 0.5 - - - 10C3 ol 07114} 22 26 310 4e|BCP e 30
Makapiecexe | 71 [ 21] 0,] - - - 10C3 491 0,6 | 1 19 22 220 4¢|BCP § 20
Masxapiscbke | 71 22| 1,6 - - - 10C3 61| 0.6 |la}] 23 23 320 4¢|BCP E 20
Makapisceke | 73| 1 | 68 | - { - - 10C3 61{091{ 22 24 410 (4e|BCP g 40
Maxapieceke | 73] 6 | 44,5 [(8)] 7.9 7.9 10C3 6l 0,711 20 24 310 4¢e|BCP 60
Pazom: -1 - [ 1340 - - - - - - - - - - - - - - -
OpancbKe 2141 07 - - - 6Cz4bn+0¢ 700061 23 32 220 4 el BCP g - 40 o
Opaucbie 2151 20 - - - 9Cz21bn 65107111 24 28 350 4 ¢|BCP| £ a ZS R 35 z
Opancbre 31231 1.8 - - - 10Cs 8510712t 24 32 360 4e|BCP E § § E ‘2\ g 30 E
Opanceke 9121 59 - - - 10C3 80j 0812 22 3 360 4e|BCP 5 ‘% ‘g ] g 35 3
Opancbke 913 1,9 - - - 10C3 o] 0812} 22 32 350 4 |BCP| 5 %% 40 2
Opancbke 9151 44 - - - 10C3 6l 08712 19 22 300 delBCP g 35




Opancohke 9 (12| 29 | - - - TC3(85)3C3(45) 851 0,713 ] 21 32 240 4e|BCP| » = § 40
Opancbke 21| 7 1,4 - - - 10Cs 2106 |1 26 { 36 340 4 e{BCP g g § 30
Opancbke 26 [12] 0,6 |(2)] 0,3 0,3 10C3 86{ 0711 27 32 420 4e|BCP| & E g = 50
OpaHcbKe 26 (18] 0,7 - - - 4126C3 681 0,712 21 22 350 .[4e|BCP § :.:; % g 60
Opabcbke 2?_ 10] 4,2 - - - 9C31 Ia+KJIT 76108 1] 25 28 425 4 e |BCP g2 i « 70
OpaHcbke 41 15_ 2,1 - - - 10C3+Bnu+Oc 66| 0,7 | laf 27 32 420 4 e |BCP g é ’g 40
OpaHcbke 42131 53 [(]48] 48 10C3 61108 |1} 21 26 350 |4e|BCP| *3 2 35
OpaHcbke 421 4| 7,2 - - - 9C31bn+/3+0c 66| O | 1| 22 28 360 4e | BCP = 40
Opancbke 48111 ) 3.5 - - - 10C3 641071 ] 23 28 350 3e|BCP E 35
OpaHcbke 49 1 13| 0,4 - - - 10Ca 9201 07 2] 25 32 385 3e|BCP é — 60 %
OpaHceKe 49124 3,7 - - - 8Ca2bn 71108 1] 25 36 400 3e¢|BCP é" g 35 2
Opancbke 511 3 2.2 - - - 10C3 63108 | 1| 22 26 375 3e|BCP = E 40 E
Opancbke 54123 0,8 - - - 10Cs3 11082 20 32 345 4¢|BCP £ 40 2
Opancbke 54124 1,0 - - - 10C3 761 0.8 11| 24 36 425 4e|BCP g é 40
OpaKchke 5519 1551 - - - 10C3 761 07111 24 32 370 4e|BCP g ? 35
Opancbke 55114 1,7 - - - 10C3 66| 0.8 11| 22 28 380 4¢|BCP E § 30
OpaHchke 55123)] 3.2 - - - 10C3 761 0.8 {1a| 27 36 480 4¢|BCP § § 30
OpaHcbke 59116 1.2 - - - 10C3 181} 0,71 1] 25 40 390 3 e|BCP/ § %? 35
Opanchke 61124] 6,0 - - - 10C3 76108111 23 1 28 400 3e¢|BCP ; § 45
OpaHcuke 61 126] 04 - - - 10C3+Co 5810711 20 26 280 Je{BCP % 60
OpaHcbke 62 (23] L3 - - - 10C3 501 08 |16 27 | 32 485 3¢{BCP z 30
OpaHcbke 62125] 25 | - { - - 10C3 64) 08 |1a| 25 30 440  |3efBCP| * 40
Pazom: -{-1837]| - - - - - - - - - - - - - -
Po3eaxipchbke 3 | 71 14,8 | - - - 9C31bnt+d3 61] 0811 21 24 380 de BCP_ g 4 x g 60
Pozpakiscoke | 4 | 14] 6,1 - - - 10C3 561 0.6 ]1la|l 23 26 350 de|BCP FZ l% ZE 45
Pospaxcipcbke | 11| 12| 64 | - | - - 10C3+bn 56 0,6 {la] 22 24 340 de|BCP] 257§ 50
Possaskinceke | 12| 7 5,3 - - - 10C3+bn 56} 0611 20 26 245 4e|BCP 50 o
Pospawiecexe | 12 (23] 74 [(3)] 6.4 6,4 10Ca 56 0.6 {16] 25 28 330 3e|BCP 5 40 L
Pozsaxciscoxe | 12| 25] 0,8 - - - 10C3+Bau+Bn 5610812 17 20 270 3e|BCP ) 40 E
Pozeawieceke | 12130] 1,2 - - - 10C3 56| 0,5 {la] 23 28 240 3 |BCP § 40 5
Possaxciecoxe | 13 |27] 23 | - ] - - 10C3 se| 06 ]1a] 23 | 26 330 | 3 [BCP 2 40 =
Pozeaxiecoxe | 13 | 39| 2,6 - - - 10Ca 56] 0,6 |16] 27 32 365 3 [BCP ?‘; 40
Pozeaxieceke | 14| 12| 3.9 |(4)]| 24 2.4 10Cs 161] 06 |1a] 24 28 330 3e|BCP had 40
Pozpaxiecbke | 14|26 0,9 | - - - 10Cs3 66)] 0,712 20 26 280 3Je|BCP 40




Pospacieebke | 16 [17] 1,3 | - | - - 10Cs 46| 0.4 [1a] 21 26 210 |4e|BCP 40
Possaxiseexe | 16 | 18| 4,1 - - - 10C3 610711} 22 24 350 4 e |BCP 50
Pozeaxisceke | 20 [33] 34 [ 20] 20 10C3 66| 0,7 [1a] 25 | 28 390 4 |BCP 40
Possaxcisceke |21 | 8| 48 | - | - - 10C3 sal 09 |1a] 22 | 24 420 .|4e|BCP 40
Pozsaxisceke |21 9| L1 [@]06] 06 10C3 61|o7]|1] 22| 26 310 |4e|BCP 3 50
Possaxciecnke | 21 | 19] 103 [(4)] 86| 8.6 10C3 66| 0.6 |1a] 25 | 32 370 {4e|BCP 2 40
Possaxcicoke | 2124 10,0 - | - - 10C3 611 0,7 [1a] 24 | 28 385 {4elBCP = 40
Poszsaxciecerke | 21 | 28] 3,0 - - - 10C3 611 0,7 |1al 24 28 385 3e|BCP 2 45
Posgaxipcoke | 21| 31] 0.6 - - - 10C3 61| 05 |1a] 23 28 240 3 |BCP E’_ 40
Possaiseoke | 22| 6 | 105 - | - - 10C3 sa{ 07 [1a] 23 | 26 350 {4e|BCP 3 40
Pozsaxiecerke | 22 | 10| 17,2 | - - - 10C3 549 0,7 | 1al 23 26 350 3¢ |BCP 40
Pospaxciscoke {22 | 11] 5,5 {(3)] 4,5 4.5 10C3 561 06 {1al 24 28 310 3 |BCP 40
Poseaxcincoke | 24 [ 16| 2.8 {3y 21| 2.1 10C3 76106 1] 26 | 30 365 |4e|BCP 40
Possaxciseoke | 25 [ 201 72 [ ()| 66| 6.6 10C3 661 06| 1] 24 | 28 330 |4e|BCP 40
Possaxciscnke |27 5| 37 | - | - - 10C3+Bnu 66107 1] 23 | 28 390__|de|BCPl . = 50
Possasciseske | 35 [ 18] 19 | - | - - 10C3 76107 | 1] 26 | 32 410 [4e[BCP| & E._ = 60
Poseaxisebke |36 |24 23 | - | - - 10C3 761071 26 1 32 410 l4e|BCP| 58 ¢ E 50
Poszsaxisebke |42 ]13| 80 | - | - - 10Cs+Bn+Bau+Mz | 761 06 | 1| 26 | 28 370 |4e|BCP| £ 58 = 50
Poseaxiscoke | 441 3 | 52 [@f22] 22 10C3 giloe | 1| 24 | 28 310 |4e|BCP ;jg;g E 60
Pozsakisceke | 521 12] 0.8 - - - 13Cs 58 0,71 22 26 310 4 e |BCP E‘ é é"‘% 50
Possakiecbke | 53 [ 21| b4 | - - - 10C3 a1y 05 {1 ] 28 36 310 4e|BCP| Z 2 40
Possaxciscbke | 53 30| 14 | - | - - 10C3 661 08121 18] 18 280 |4e|BCP| © 2 40
Possacineoke | 62| 3 | 139 | - | - . 10C3k+Bn s9loa 1] 20| 22 190 |4e|BCP “‘E:{?a 60
Possaxiscoke | 69| 8 | 1781 - | - - 10C3+bn+/la 56| 09 [16] 25 26 495 | 4¢|BCP} croedyposi | 50

Pazom: - - 11785] -] - - - - - 1-1 - - - -] - -
Denepyupxe | 4 |17 25 | - | - - 10C3 100) 06 1] 28 | 40 395 2 |BCPl , = = 33
deHerHlbKe 4 133 06 - - - 10C3 7610912 22 20 420 2 |BCP §§i§ 30
Genesuubke | 7 | 9] 1.1 | - | - . 10Ca+bn 105 06 [ 1] 28 | 36 360 |2e|BCP| 2 & 40
M@eHeBHbKe 9131 42 | - | - - 10C3+Bnu 71108 | 1| 25 28 460 2e|BCP § QE g 30
Menesuupke | 15[ 6| 12 | -} - - 10C3 91{06 (1| 29| 40 410 [3el|BCP ;_;’é 2 30
Denesupke | 27] 3 | 145 - | - . 10C3 %081 26 | 28 470 |4e|BCP| & = 2 45
Denesmupke | 27|10 1,7 ] -] - - 10C3 |lo082] 22| 26 410 |4e|BCP| Z 2 & 40
Denesnuwke | 27 | 18] 1S J]os5] 05 10C3 nlo7|1] 26 | 32 410 |4e|BCP| - 8 40

HE BHABAEHO




denepHIIEKe 321 4 0.9 - - - 10Cs3 T6]1 08 | 1| 25 28 410 3e|BCP = 30
DeHeBHIIEKE 3201 1,8 - - - 10C3 76| 0,7 | 1a] 27 32 420 3e}BCP E g 30
denesnpre | 32123)] 1,3 - - - 10C3 76| 0,7 [1al 27 32 420 3e|BCP §§ 40
DenepHupKe 33121 1401 - - - 10C3 g0l 07111 27 30 410 3¢ |BCP = ;E 4Q
deuesuibKe 381 § 4,6 | 3] 1,0 1,0 10C3 90| 0,712 25 30 350 4e|BCP nfa ’g g 40
denepnibke [ 49| 9 3,0 {(2)] 2,2 2.2 10Cs 761 0.8 |lay 27 32 480 3 |BCP @;‘?:E g 45 o
Menepupre | 55( 1| 114 {(1)]104] 104 10Ca+bn 7110711 22 26 350 4e|BCP § gig 45 =
deneBnUbKe 551 8] 165 | - - - 10C3 74108 2| 22 24 380 4e[BCP ;E = 40 E
DeHeBHLbLKE 56 26| 9.1 - - - 10C3 7610721 21 24 310 4¢e|BCP E § 45 =
denepuuske | 103 2 | 153 | - - - 10C3 76| 0.8 | 1| 24 28 440 4e|BCP z £ 35 2
denesmmxe  {108] 5| 1,9 | - | - - 10C3 s1]o7 (1] 25| 32 415 |ae|BCP| * 30
Denepnubke |114] 4| 08 | - | - - 10Csk+Bn 4207 [1afl 19 22 305 |4e|BCP "°;%’:;Ba 40
®denepnuprke | 1157 3 | 3,0 - - - 10C3 81107 1v] 27 32 420 4e{BCP KOMIEKC 40
®cuepuupke | 116] 6 1.3 - - - 10C3 g8 07 1| 27 36 414 4¢e | BCP| crostyposux 35
®eneenupke | 116 8| 26 | - | - - 10Ca+Bn 86| 0711 27 32 420 4e|BCp| wwianmxie 35

Pazom: -1 -11084) - - - - - - |- - - - - - - - -

Benoro: - -1o09s5] - | - - - -1 - -] - - - -] - - - -
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